This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 9 - Armadale and Blackridge

5,204

3

1,302

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Stuart BORROWMAN	Independent	2,343
Ian BURGESS	Scottish Conservative and Unionist	723
Sarah KING	Scottish National Party (SNP)	1,322
Andrew MCGUIRE	Scottish Labour Party	707
Chris SMILLIE	Scottish Liberal Democrats	47
Paula Ryans STOKES	Scottish Green Party	62
	Total	5,204

Candidate Stuart BORROWMAN Elected with 2,343 votes, being in excess of the quota of 1,302 Candidate Sarah KING Elected with 1,322 votes, being in excess of the quota of 1,302

This report contains the transfers results.

Stage 2 - Surplus of Stuart BORROWMAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart BORROWMAN	0	0.00000	0.00000
Transfer to Ian BURGESS	660	0.44430	293.23800
Transfer to Sarah KING	0	0.00000	0.00000
Transfer to Andrew MCGUIRE	687	0.44430	305.23410
Transfer to Chris SMILLIE	157	0.44430	69.75510
Transfer to Paula Ryans STOKES	196	0.44430	87.08280
Value of non-transferable ballot papers			285.69000
	Total		1.041.00000

This report contains the transfers results.

Stage 3 - Surplus of Sarah KING

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart BORROWMAN	0	0.00000	0.00000
Transfer to Ian BURGESS	59	0.01512	0.89208
Transfer to Sarah KING	0	0.00000	0.00000
Transfer to Andrew MCGUIRE	272	0.01512	4.11264
Transfer to Chris SMILLIE	74	0.01512	1.11888
Transfer to Paula Ryans STOKES	516	0.01512	7.80192
Value of non-transferable ballot papers			6.07448
	Total		20.00000

This report contains the transfers results.

Stage 4 - Exclusion of Chris SMILLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart BORROWMAN	0	0.00000	0.00000
Transfer to Ian BURGESS	6	0.01512	0.09072
Transfer to Ian BURGESS	31	0.44430	13.77330
Transfer to Ian BURGESS	4	1.00000	4.00000
Transfer to Sarah KING	0	0.00000	0.00000
Transfer to Andrew MCGUIRE	5	0.01512	0.07560
Transfer to Andrew MCGUIRE	42	0.44430	18.66060
Transfer to Andrew MCGUIRE	21	1.00000	21.00000
Transfer to Paula Ryans STOKES	38	0.01512	0.57456
Transfer to Paula Ryans STOKES	38	0.44430	16.88340
Transfer to Paula Ryans STOKES	15	1.00000	15.00000
Value of non-transferable ballot papers			27.81580
	Total		117.87398

This report contains the transfers results.

Stage 5 - Exclusion of Paula Ryans STOKES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart BORROWMAN	0	0.00000	0.00000
Transfer to Ian BURGESS	19	0.01512	0.28728
Transfer to Ian BURGESS	24	0.44430	10.66320
Transfer to Ian BURGESS	11	1.00000	11.00000
Transfer to Sarah KING	0	0.00000	0.00000
Transfer to Andrew MCGUIRE	250	0.01512	3.78000
Transfer to Andrew MCGUIRE	73	0.44430	32.43390
Transfer to Andrew MCGUIRE	39	1.00000	39.00000
Transfer to Chris SMILLIE	0	0.00000	0.00000
Value of non-transferable ballot papers			92.17830
	Total		189.34268

This report contains the transfers results.

Stage 6 - Exclusion of Ian BURGESS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart BORROWMAN	0	0.00000	0.00000
Transfer to Sarah KING	0	0.00000	0.00000
Transfer to Andrew MCGUIRE	53	0.01512	0.80136
Transfer to Andrew MCGUIRE	339	0.44430	150.61770
Transfer to Andrew MCGUIRE	306	1.00000	306.00000
Transfer to Chris SMILLIE	0	0.00000	0.00000
Transfer to Paula Ryans STOKES	0	0.00000	0.00000
Value of non-transferable ballot papers			599.52552
	Total		1,056.94458